[ Efficiency vs vertpos |
0.02

0.018
0.016
0.014
0.012

0.0
0.008f--

.............................................

............................................

0.006F--
0.004f-- :
0.002F - :
oF . T Y Y R
1.9 -
B4
0.954

1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_lowptq_orig
Efficienq —— poM_TT_ mkFit-DQM_lowptq_mod

0.02 ; ; ; ; ;
0.018F -+
0.016F -+ |

0.014F -t H{]-3+ - A Beeeee
YT, S 111 SR NS T
ook Il
0,008 -+l i

e oI/ 11| SRS § IS S

0.004f— LT
0.002f------- *

——

[y
> «
> o
» o
<
+
> «
+
> «
» o
=5
+

0.95!

[ Efficiency vs. sim PV z |
0.05

7T SN TN ST I T e

TS S5 O O O s e
TS NN 16 T O T e

O RN SRS SIS SR S
0.025 . . . . . .
0.02
0.015
0.0
0.005E-

- R 1D S ——

5 10 15 20



	Contents
	Page 1


